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f120 FHOS BN EEOEHEF RBETONE
EX O 1H 2[8] 3@ 4[] SEILLE EEE
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#H21 TR AFYER(Z1#4R)
AFYR(Z1#{0)
VEYHR (S

95%K#E x <HAZH{E =747 plE=06805 BHE=10>

[2%]
B20 FEHNYED AREDERG ZDih
EH O 1H 2[E 3E 4[] SEILLE EEE
2 2,560 43.9 0.2 0.3 0.3 0.4 0.8 54.0
244 TR AEYE(ZH#HE) 1,785 45.2 0.2 0.2 03 03 05 53.4
AU (EH#HEK) 221 432 - 1.0 - 1.4 0.4 54.1
VEYF (ZHR) 358 41.7 03 03 - 0.6 20 55.1
VEYH (Z ) 75 29.9 - 1.4 - - - 68.7
95%K#E O <hAZ%HfE =2603 pflE =00377 BEHE=15>
SRR R HEEE
RiE
—hefE

O5%K#E x <hA/ZHFflE=15219 pfE =0.1243 BHE=10>
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EXLS 2,560 52.5 1.3 0.4 0.4 0.1 0.4 44.9
24T R AEYB(ZH#HE) 1,785 53.4 1.1 0.3 0.2 0.1 0.4 44.6
SYER (Z1HR) 221 51.6 1.8 1.4 0.5 - 0.5 44.3
VEYFR(ZHR) 358 50.6 1.9 - 1.1 - - 46.4
VEYFR(Z1HK) 75 39.2 - - 3.9 1.4 2.6 52.9
95%K#E O <HIZFfE=68103 plE=0 BEE=15>
A R SR B EEE 136 54.8 3.6 0.8 0.8 - - 40.0
BB 336 53.1 1.2 0.9 1.1 - - 43.6
—HRE 1,506 54.2 0.9 0.1 0.3 0.2 0.3 44.0
95%K#E O <HA ZHfE = 20805 pfl =00225 HHE=10>
[£%]
21 1H1EIUEBRTVSES [(EHEE]
. A 3% rEnE 433y
EH (Commit| BR |G| R8O |Lh-F-X| mEE
F-AIEE e 0k g1
EXLS 2,560
tHFERA TR A=Y (ZHR) 1,785
A=Y (ZHR) 221
VEYE (Z ) 358
VEYE (Z ) 75
95%KH#E x| 95%KHE Of 95%K#E x| 95%KHE x| 95%KH#E x
<HAZFE{B| <HhAZFfll| <hA ZFMB| <hAZFfl| <h4ZH(E
=3095 pf| =14985 p| =4.819 pfE| =5.104 pfE| =4.298 pfE
=03772 B| fE=00018] =0.1855 BH| =0.1643 H|[=0.231 HH
HE=-3>|HHhE=-3>| @AE=-3>| HAE-=-3> E=3>
SRR R e 136 76.6 64.1 28.0 60.0 2.3
AiE 336 86.8 703 420 66.7 2.2
—HefE 1,506 89.8 75.1 48.2 70.3 1.0
95%K#E x| 95%K#E O 95%K# O| 95%KH O 95%K#E x
<HAZFR{B| <HhA ZFfll| <hA ZFiB| <hAZFfl| <h1Z%(E
=0388 pf| =21.018 p| =8.391 pfE| =21.761 p| =5515 piE
=08237 B| fE=0 BH| =00151 B| fE=0 BHH| =00635 H
HE=2> E=2>| HE=2> E=2>| HE=2>
[£%]
fi22 A)B KR BIHRE
i *RE
x| TN meme | TOU | mems
cm (kg)
EX% 2,560 164.7 8.5 55.7 9.9
tHERA TR SEYBR(CH#EEK) 1,785 164.7 8.4 55.4 9.4
SEYBR(EH#HK) 221 164.6 9.2 56.4 10.4
VDEYER (ZHER) 358 164.5 8.4 56.2 10.7
VEYH (Z1HK) 75 166.6 9.8 57.4 10.8
HEEHE R HEE 136 163.6 8.9 55.6 10.3
R 336 165.0 8.6 56.3 9.8
—H& B 1,506 164.7 8.6 55.5 98
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23 REDABCAEFILET)
EH [oF: 1K 2K 3K 4KLLE EEE
EXLS 2,560 83.4 5.9 3.7 2.0 24 2.7
244 TR AV (ZH#HE) 1,785 85.2 5.0 3.3 1.9 2.3 2.3
SYHR (ZHR) 221 87.5 45 2.7 0.9 1.3 3.0
VEYHR (ZHR) 358 76.5 8.9 5.2 3.1 2.6 3.7
VEYHR(ZHE) 75 78.8 5.3 7.7 2.8 2.8 2.6
95%K#E O <HA Z5fl = 24586 pfE = 00169 B =12>
AR HEEE 136 72.9 6.5 8.2 2.8 38 5.8
BiarE 336 80.1 6.3 3.7 2.7 4.4 2.7
—herE 1,506 85.9 5.5 3.4 1.6 2.0 1.6
95%7K#E O <hAZHfE =21.299 pfE =00064 EHHE =8>
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95%7K#E x <HAZFEflE = 15622 pflE =0.2092 EHE =12>
EERHMER FEEE 136 28.4 7.2 51.8 94 15 1.6
R 336 39.2 11.3 43.8 5.1 0.3 0.3
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R 336 79.2 2.1 12.7 5.7 0.3
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95%K#E O <HAZHfE=63.284 pfE=0 BHEE=6>
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VEYF (Z ) 358 19.7 79.7 0.6
VEYE (ZHK) 75 26.3 71.0 2.7
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95%KHE O <HAZFfE=59817 pfE=0 BHE=2>

[UIRAZESIHE BFETILNAMEED)ELTND]
f28-1 EfARE

EERER _ | xEsER| a0
En | EREA | Oobag |[FEPERIGLUS | minee
N L S )

EXL

24T R A=Y (ZHR)
SYH (Z1HR)
VDEYE (ZHE)
VEYE (ZHER)

95%7KH#E x <HAZFfE = 14593 pfE = 09748 BEE =27>

HEEEHER HEEE

95%7KH#E x <HAZFfH = 24454 pfE = 0.1407 BEE = 18>

f28-1 EFAME HFE)

BEXOF ﬂi])kéi%%% o Z0i mEs

=

EXL
#2445 A=Y (ZHR)
SYH (ZHR)
VEYHR(ZHR)
VEYE (ZHK)
95%7K#E x <HA 5l =14.593 pfE =0.9748 BHEE = 27>
SRR R HEEE

95%7K#E x < HA 5l = 24454 pfE =0.1407 BHEHE = 18>
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VEYH(ZHK)
VEYH(=#K)

95%7K#E x <A ZFfl =17.327 pfl =0.5007 EIHE = 18>
SRR R HEEE 48 4.0 25.5 43.0 12.8 - - 6.5 8.2
52 81 15.2 18.6 492 85 1.3 - - 73
—HfE 202 8.9 26.9 48.0 8.4 15 1.1 - 5.3

95%K#E O <HA—FIE = 26.374 pfE = 00095 EHAE =12>
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Eo
=]
%
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fi28-8 HHEMT [(BHEEE]

B8 (5 ~| B b (8BF~| 7R (1885 [ R (228
e 8H¥) 186) ~2285) | ~2585) mEE

£ 430

tHERA TR SYH (ZHR) 274
SYER(ZHR) 38
VEYER (ZHER)

VEYH (=)

95%k#E x| 95%k#E x| 95%k#E x| 95%k#E O
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=1.495 pfli[ =1.855 pfli| =5204 pfl| =9.445 pid]
=06834 H|=0603 BHM| =0.1575 H| =0.0239 B
HE = 3> E=3>| mE=3> mEE=3>

SRR R HEEE 48 22 -
AilE 81 Z Z
—HerE 202 N _

95%7K#E x| 95%IKHE x| 95%KHE x| 95%KHE x
<NAZFE| <HhAZR{E| <hAZFE| <h/ZFfE
=016 pfE=|=0194 pfE|=0815 pfE| =5872 pfE
09231 HM| =09076 B[ =06653 BH| =00531 B

E=2>| @mE=2>| HE=2>| HE=2>

[IRAZHSHFE (FETILNMEEL)ELTNS]
129 REFEIZAEDRESNDEFEEDEY

EH LT3 | LTLVELY | EEE

24
ST R A=Y (Z 1)
SYR (Z 1)
VEYFR (Z )
VEYHR (Z#K)
95%7KH#E x <HAHfE=1.336 pfE =0.7206 HEHE=3>
HERBER HEEE 48 105 87.2 2.3
FELE 81 16.5 83.5 -
—fE 202 6.9 926 05
95%7K# O <hAZFf# =6.487 pfl=0.039 HEE=2>
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R TR SYH (ZHR)
SYH (ZHHK)
VEYF (Z )
VEYE (ZHK)

95%KH#E x <hAZFfE =5887 pliE =09816 BHE=15>

R REsE

95%K#¥E x <hAZF(E=6372 pfE=07831 HHE=10>

[PEREERICEFOPRITER EERRHY]
f30-1 HHELTLS(LTW ) BEEREDEE

EH HEw T/ REH EER | BEEH [ zof REE

2K
24 TR SYH (ZHHR)
SYH (ZHHR)
VEYE (Z )
VEYE (ZHK)
05%7KHE x <HAZHfl =17597 pfE =0.2844 EHEHEE =15>
SRR FEEE 135 71.6 24 1.6 4.7 43 13.8 1.6
R 336 80.7 44 1.5 1.8 35 7.8 0.3
—feE 1,504 85.8 3.0 0.7 1.5 3.0 5.6 0.3
95%7K#E O <HA ZHfl =29.243 pfE = 00011 EHE =10>

[PERERERICHEZOERITEE EERRHY]
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E%E'CL\ HhidREL EEE

R f=

£

tHERA TR AU (ZHR)
SYER (ZHHK)
VDEYER (ZHER)
VEYER (ZHER)
95%7K#E x <HAZFfE = 0423 pfl =0.9355 EEHE =3>

RS REE

95%7K#E x <AHAZFfE =3.659 pfli =0.1605 BEHE =2>
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fE30-2 EFFK-EMFROPIREY

o G RV ) P PE ) RP-ESTY PSS PV PERT

EXL

244 TR SYHR (ZHR)
SYHR (ZHR)
VEYHR (ZHR)
VEYE (ZHK)

95%KHE x <HAZFfE=7 pfE=08576 EMHE=12>

4R R REEE

95%KH#E x <HAH{E=1.333 pfE=09951 HAE =8>
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f130-3 BEFK-BEMEROEEE
EH AL FhIL [E3lva Z0it EEE
£k 2,548 44.1 525 1.6 0.6 14
244 TR A=Y (Z1i ) 1,780 43.1 53.4 20 0.5 1.0
SYH (ZHHK) 220 445 53.3 0.4 0.9 0.9
VEYHR(ZHR) 357 46.3 50.3 0.5 - 2.8
VEYE (ZHK) 74 474 472 1.3 26 14
95%K#E x <HAZ3{E =16.727 plE =00532 EHHE=9>
SRR R FEEE 135 61.2 36.4 - 0.8 1.6
B 336 475 49.1 1.5 0.6 1.2
—HfE 1,504 41.0 55.6 20 05 1.0
95%K#E O <HAZ3fE =26.953 pfE =0.0001 EHHE=6>
[AZIZE->TLAA)
f30-4 FIBRNDREOHE
< Bl
EH REfLTz Inote EEE
2 1,133 58.7 39.3 2.0
24T R A=Y (ZHR) 775 61.3 36.6 2.1
SYH (Z1HR) 98 62.4 36.7 0.9
VDEYE (ZHE) 167 458 51.1 30
VEYE (ZHER) 36 53.4 46.6 -
95% K% O <HAZFfE = 14033 pfE =00029 BHE=3>
4R HEEE 83 36.6 59.8 36
R 160 52.6 424 50
—hefE 622 62.7 36.2 1.1
95%K#E O <HAZHfE=20074 pfE=0 BHE=2>
[AILIZE>TLBDA)
f130-5 AMNERADEFEHR [HHEE]
DELRO| numhe| wsn |mrEgo| RIRED
EX EAE N %&%_ﬁﬁﬂﬁ #Al_‘i&&bf )k‘sfjl:ﬁ% Py ZDith EEE
Bt KICA-fz| #Hdofz | Lighof: e
EXL 1,133 19.9
jee LRy SYB(Z1H) 775
SEYH (ZHR) 98
VEYE (Z ) 167
VEYE (ZHK) 36
95%KHEE x| 95%IKHE x| 95%IKHE x| 95%KHE x| 95%KH#E x| 95%KHE x
<HAZFIE| <HhAZFME| <HhAZRE| <hAZFME| <HAZFME| <HhAZFfE
=402 pfi=| =4213 pfE| =0915 pff| =2098 pliE| = 4632 pfE| =0.056 pfE
02593 EIE| =02394 B| =08218 B[ =05523 B| =02008 E| =09965 B
E=3>| ®mE=3>| H@E=3>| @HE=-3>| HE=-3>| HE-=-3>
SRR HEE 83 5.9
R 160 18.7
—heE 622 20.3
95%k#E Of 95%k#E x| o5%k#E x| os%k#E x| 95%k# O 95%kiE x
<HAZRME| <HAZFfE| <HAZRME| <HAZRME| <HIZFfE| <H/ZR(E
=9539 pfE| = 2429 pfE|=183 pfE =| =2007 plE| =27469 p|=3503 piE
=0.0085 HB| =02969 H| 04005 BHH| =03666 BH| fiE=0 BHMH| =0.1735 B
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£k 1,328 30.3
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VEYF (Z ) 178 28.4
VEYE (ZHK) 34 9.1
95%7k#E O 95%k#E x| 95%ki#E x| 95%k#E x| 95%K#E x
<HAZFfB| <HAZRME| <hA ZFRME| <hA ZFfl| <h/=%iE
=9744 pfE| =2482 pfE| =1975 pfE| =7412 pfE| =2.923 pfE]
=00209 B[ =04786 B| =05776 E| =00599 H| =04037 B
BHE=3>| mEE=3>| mEE=3>| HmE=-3>| mE=3>
HERER HEEE 49 22.6 15.0
BiarE 165 24.3 20.8
—RE 831 32.0 211
95%K#E x| 95%KHE O 95%K#¥E x| 95%KHE O 95%K#E x
<HAZRIE| <HAZFefl| <hAZRlE| <HIZFfE| <ha=FfE
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EX0Y 2,548 75.6 5.2 17.9 1.4
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SYH (Z1HR) 220 75.9 4.4 18.7 0.9
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95%K#E O <HAZHfE=30175 pfE=0 BHE=4>
[FEREERITEFDHRICERE EERRHY]
32 BELHEN [HHEE]
B (£Y- .
mr | oy | mE | R REER | muuw | =6
&)
EXL 2,548
24 TR A=Y (ZHR) 1,780
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SR 336 37.9 27.3 4.0 297 1.2
—iE 1,506 33.6 26.9 6.0 31.7 18

95%K#¥E O <HhAZHfE=1577 pfE=0015 BHE=6>
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UhhEREERE]
16-17%E
[£%]
Bl42C FRICETEEHOBBY—ER
HEo>THI= N ELN< | FESREIL
gy | BN (mueps| BTN | BOOTE | mEE

3%

HHFSA TR

A=Y (Z 1)

A=Y (= 1# )
VEYH(ZHK)
VEYH(=#K)

95%K#E x <HAZ3fE =13.257 plE =0.1513 EHHE=9>
SRR R FEEE 136 55.6 27.1 45 12.1 0.8
52 336 53.4 20.2 5.3 18.4 26
—HfE 1,506 44.9 22.4 5.9 25.0 1.9
95%K#E O <HAZ3fE =22608 pfE =00009 EHE=6>
[£3%]
42D (RUSNT) RDAAUVEVEE, EEE- BRI TYZFAZMDAEBRNDIENTESHISH
E ﬁo’bc\.ﬁf: RSB D EL\J‘\:O:: ﬁa,«”:‘f’* RES
£N

2%

21 TR

AU (Z )

ASYBR(Z1H)
VEYF(Z )
VEYH (=)

95%7K#E x <HAZHfE=4.804 pfE=0851 EEHE=9>
HEEEHER HEEE 136 35.4 23.7 13.0 26.5 1.4
R 336 34.4 20.4 124 31.6 1.2
— iR 1,506 271 18.2 135 39.2 2.1
95%7K#E O <HA Z5fE = 18466 pfE =0.0052 HHE =6>
[£%]
f42E RTHRTEIHLE, Fh(cHEN TS DIGM
Eo>THI= N EL=<7 | FESREIL
E¥ n BN HD 0 L EEE

3%

#H21 TR

AFYER(Z1#4R)
AFYR(Z1#{0)
VEYHR(ZHK)

95%K#E x <A/ ZF(E =10362 pfE =01102 EEHE =6>

#E21 TR

AYR(Z#)
AYBR (=)
VEYH(ZHK)
VEYR (=)

95%7K#E x <HAZFEfE =639 pfE =0.7003 EEHE =9>

[£%]
B42F KZEDRIUTATHEN MEER TH TN DG
0 ﬁo;'c\ﬁf: DS ﬁubf\:o:: ﬁif{b%(; A
£y
2 2,560 30.1 31.0 12.1 24.9 1.9

4R R

HEEE 136 326 40.3 11.4 15.0 0.8
RS 336 314 32.1 124 2238 1.2
—herE 1,506 29.9 30.9 11.2 26.5 1.4

95%K#E x <A/ ZF(E=12016 pfE =00616 EFHE =6>
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[hpEREFRE]
16-17%E

[£%]
142G (FHLUNTEROME, REDELELGATURMTEDSM

fEoTHt= oz | BV | EIBE
B W | BB D KR ek AL

£k
R TR SYH (ZHR)
SYH (ZHHK)
VEYF (Z )
VEYE (ZHK)
95%K#E x <HAZH{E=3.674 pfE=09315 BHAEE =9>
SRR R FEEE

95%7K#E x <A ZFfE =8693 pfli=0.1916 BHHE =6>

[£#]
f42H {E3E- M T BEZENRIIONEY—ER

fEoTHt B | BEIRE
M RN £ Lo E] RSl Ry

E
=]
%

EX.Y

24 TR SYH (ZHHR)
SYH (ZHHR)
VEYE (Z )
VEYE (ZHK)

95%K# x <HAZHfE =5934 pfiE =0.7465 BEHE=9>

SRR R FEEE 136 25.2 35.9 12.9 24.6 15
BB 336 25.2 27.6 12.1 33.9 1.2
—HefE 1,506 20.4 26.6 12.3 39.2 1.4

95%7Kk#E O <hAZFfE=16613 pfE =00108 HHEE =6>

[£%]
421 RMOHTERICEICENTESIESE BHOR

X EﬂLC\FH‘: 2 EL‘J’\:(U fi:J;:ZL;EIi mES
£3

3%

#H21 TR AW (Z#{R)
A=Y (Z1#{0)
VEYHR(ZHK)

95%7K#E x <HAZFfE =5672 pfE=07722 BHE=9>

SRR R FEEE 136 19.0 24.1 19.1 35.7 22
AiLE 336 19.4 18.9 145 45.7 1.4
—hRE 1,506 15.9 19.1 13.3 50.2 1.5

95%K#E O <HAZF{E=134 plE=00371 BHE=6>
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